
Lissajous-Figuren



f_CHA : f_CHB = 1 : 1;  phase = 0°



f_CHA : f_CHB = 1 : 1;  phase = 45°



f_CHA : f_CHB = 1 : 1;  phase = 90°



f_CHA : f_CHB = 1 : 2;  phase = 0°



f_CHA : f_CHB = 1 : 2;  phase = 45°



f_CHA : f_CHB = 1 : 2;  phase = 90°



f_CHA : f_CHB = 1 : 3;  phase = 0°



f_CHA : f_CHB = 1 : 3;  phase = 45°



f_CHA : f_CHB = 1 : 3;  phase = 90°



f_CHA : f_CHB = 2 : 3;  phase = 0°



f_CHA : f_CHB = 2 : 3;  phase = 22°



f_CHA : f_CHB = 2 : 3;  phase = 45°



f_CHA : f_CHB = 2 : 5;  phase = 0°



f_CHA : f_CHB = 2 : 5;  phase = 45°


